

Exercise 3.6.7

Introduction to Discrete Mathematics MATH 2001

SEBASTIAN CASALAINA

ABSTRACT. This is Exercise 3.6.7 from Hammack [Ham13, §3.6]:

Exercise 3.6.7. Use the binomial theorem to show $\sum_{k=0}^n 3^k \binom{n}{k} = 4^n$.

Solution. The binomial theorem states that $(a + b)^n = \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k$. If we apply this with $a = 1$ and $b = 3$, then we have

$$4^n = (1 + 3)^n = \sum_{k=0}^n \binom{n}{k} 1^{n-k} 3^k.$$

□

REFERENCES

[Ham13] Richard Hammack, *Book of proof*, Creative Commons, 2013.

UNIVERSITY OF COLORADO, DEPARTMENT OF MATHEMATICS, CAMPUS BOX 395, BOULDER, CO 80309

Email address: casa@math.colorado.edu